Case 2 Factoring (By Grouping):

In previous factoring cases, we were able to find factors which multiplied to the third term and added to the middle term, but only when the leading coefficient was 1.

In cases such as 
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, we can TRY the same method, but the result may not check. LET”S TRY!


(2x + 6)(x + 7)
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No good!!

So we must use GROUPING…
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In grouping, multiply the first and last term (here we get 12). Now we find 2 numbers that multiply to 12 and add to 7.

Factors of 12: 1*12, 2*6, 3*4

Add to 7: 3 + 4 = 7

We can now re-write our polynomial as 
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Group the 1st two terms, and the last.
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Factor:
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Check:
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Ex:

1) 
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